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BE/BTech, DI

REE EXAMINATION, APRILMAY 2010,
Sixth Semester
Blectronics and Communication Engincering
MA 1011/ MA 1251 — NUMBRICAL METHODS
(Relation 2000

(Common to Computer Science and Engineering, Mechanical Engineering,
Chemical Engineering, Information Technology and Avtomobile Engincering)

Tise : Three hours Maimum : 100 marks
Answer ALL questions.

PART A — (10 2 = 20 marks)

1. State Newton - Raphson iterative formula
2 Whatis the condition for the convergence of gauss - Seidel terative method?

5. Provethat (1+4)1-V)

4 When should we use Newton's backward interpalation formula?
5 Construct a divided difference table for the following data
© 45 7 0 1 1
for 48 100 294 900 1210 2028

State Newton's & rule of umerial integration

Lox series for 3(x,)

& State Milne's predictor formula




[image: image2.jpg]9 State Schmide's explicit formula for solving heat equation.
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the stundard five point formula to solve the laplace equation

PART B — (5% 16 = 80 marks)

1L () Solve the following system of inear equations using Gauss elimination

othod.
i Byreowen 2 2By BT
xiyvie-w
(21
(5 Find the inverse of the matrix A=(3 2 3| using Guuss Jordan
1o
methd

12w Use Lagrenge’s interpolation formula to it a polynomial to the given
data.

¥ 00 13 4
y: 12 06 12
Hence find the value of y when x =2
or

{b) Find the equation of the cubie curve which passes through the poirts
©4,-43), (7, 83), 9, 327) and (12, 1053). Hence find £ (10}

13, @ Fiod 2 ana ¥ at x50 from the folloving data
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Evaluate using trapesoidal ule wilh A= 0.2. Determine the

value of 1

Compute 3(0.1) and 5(0.2) by Rungo-Kutta method of fourth ordes for

dy
the differeatial equation 2 =
o dx

Find 5(0) by Milnes method for the equation '
obeaining the starting values by Taylor’s series method.

20)=1,

Solve by Crank-Nicalson's method u, =, for 0<x <1,¢>0 u(0,t) =0,

uft, €)= 0, ul, 0)=100(x - x*). Compute u for one time step. h :%

or

Solve the Poissar’s equation A% = 827° for the square mesh of the
given figure with u(r,y)= 0 on the boundary and mesh length = 1.
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